§414 Nr. 1

a)f(x)- 1-5srn(y) = F'OD = 47 cos(y)

b) f(x)=-2ecos0x) = F'(y)= - 2. (=5rm0x) = 2-57m(x)
c) F(x)- f_'-co:[k) = Pz -vs' srnfy)

d) Hx)= 7/? sinlx) <5 1 (x)-” (65(x)

e) Fx) = I = sinlx) D Fly) = 715%™ = costly)

P Hy)- Zcos(y) - srnlx) = F'ly)- 2(~sinlx)) - cos(y)
Flx)= -2 sinCy) = cos (x)

5124 Vv 2

Y Hx)= —9-5im(%) = FOO= - 9.cos(x) = FI(TT) =9 -Cos() = -9.¢-1)-9
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) F(x)- 5+cos(x) = F'(x)= =Sin(x) = FU(F)= -sim(T) =0
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¢) F(x)- Sx = cos(x) ZFH(x)= S +5mlx) = F(M)= S+srm(l}) = 5+0=5
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‘/) F(¥)= e —Z— cos(x) = f'()()= 7 x +f1'—f/'h(>()
FCT) = 27 + Lsin(M) =20 +0 =27
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¢) Fx)= 4 4 sin0)
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= s ) = +—Z-(ax()()
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F )= 3‘; + Loy =5 Flge - 2-(05()()
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